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Base your answers on what you studied in | sLo¥13slo -8 Cew)s Lo s 5 -8

Biology: AGY AW e

1- Choose one of the questions (A) or (B) | a3 (<) i (1) ¢ttt dsi pisnt -\

and write its scientific term. e Jiat \ | )
(A) A part of the skeletal bone which connects _ o A
the two upper limbs to vertebral column. e | dSellgme i ()

(§ 2241 3 g0alls (par glal! (8 plal |

(B) A semi - lighted area lies in the middle of
dark band of sarcomere. GO pdS Aas 4wl Abie (@)

‘.’5 S daladl awiie

JAdiaal) Aalaal

2- Choose one of the question (A) or (B) (@) 91 (1) ot 3maad | s oisn =¥
then explain what is meant by it. -3 gumialt Lo sy

(A) Chemokines. . ')
(B) Precipitation. e ()
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3- Choose one of the questions (A) or (B) | (<) i (1) ot smudt do i piisnf =¥
then mention its site and function.

ol AL gl g olSalt HS31 @3
(A) Funicle in plants. ALt B gyl | (1)
(B) Archegonia. 5520y ¥ ()
OLSad! Al 15 gt
site Function
4- Choose the right answer only: 1o Leo Aoviuall Ayl W1 pisn) - &
The two stages of oogenesis which occur | acas g (eSS Jfpe (po Ol 50
during embryonic stages in female of d el 3 Ol L1 1,3
human being are: ......... i i
@ duplication and maturation. ity e Lait | @
(b  growth and maturation. sty st (Q
@ duplication and growth -gaidly Cacliant @
@ growth and metamorphosis. Jgmdly geid! @
3
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5- Give reason for: 1L Lt Yo -0
The B- lymphocytes are considered a highly e (B)aslat LMY 4 cal
specific immune cells. . ,
6- What happens in the following case? P ALY Wt 58 Sty 131e =1

The absence of ligase enzyme from the | adsti 319 (o das 3l @ajal ol
nucleus of the living cell. s
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7- The figure below represents T.S in the | Lus se lollad g L IS8 -V
human male testis:

study it then answer the following: WS 53 B o8
First : What happens in case of absence of Pk les ol .
cells no. (1)? Ol Al 8 Gy fale W g

Second :What 1s the importance of the (1) ol LS

structure no (2)?

(Y) 8 oS it Asal Lo :Lols
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8- Compare between:
The function of insulin hormone and
glucagon hormone.

(30 JS (0 I3 -A
090289 (el guid ¥ (g0 o0
JAads g Cos (e (9IS glmT

Insulin Hormone
Ol 9 Y1 (g0 o0

Glucagon Hormone
09> 1S9l O ga pa
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9- Two parts of DNA molecules equal in | DNA dai yi (ye (535 5 g @3 -4
length were put in two test tubes and a | ;ye yiugol L2 Jstall Lo (o gludie
different enzyme is added to each of them | Legie Js 31 cacnly sLas ¥ Cals]
the results were as shown in the figure: L S  Calies @331 B ke

sl b 9o 9o LeS
E2 . ' El
Single parts of DNA each partis  Nitrogen bases
about 5 nucleotides PRI R VS

Sl S 5 0 Let glo DINA 053 50 2150
phosphate groups
Olawgd Tle gamo
+
Deoxyribose sugar

390 oS3 S

- Mention the name of the enzyme in each IS B J gkl l @33N @l HSBI
case (E, E,) and explain your answer. ittt g B (E Wl
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10- Choose only one of the questions (A) or | :@3 (<) 9i (1) Gl gud | di ynf -\ e
(B) and answer it. e

WA el do gt d,dad e (1)
el W@ OL e ,E8T e

Give reason:

A-The theory of sliding filaments is the
most acceptable theory to explain muscle

contraction. -l ol
B- The ATP molecules play a double role | #9254 b9 cals ATP Sl (o)
during muscle contraction. L laall (ala b
11- Choose the right answer: dadd doveomall Al Wi i) -\
The immune receptors (CDS8) are found on 1ol Los
the surface of.... e Aueliol OSLELLl! e s
...... zow e CD8 ¢ g1
(@)  Helper T- cells (Tyy) (Tip) ssetwanasaiussa ()
@ B lymphocytes. (B)asta L @
(©  Cytotoxic T celles (Tc) (Tomtwiaswiussy &
@ Large phagocytes. 5 ST Apanld | LS @
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12- Explain the following statement: t i Lo i -\ Y
The ovulation in a human female stops during | ol ¥1 i1 o s 5031 &g pue
the pregnancy period. el 58 I
13- What happens when: s e Sodony 130e -\ Y
Absence of structural non - histone proteins A o Sl g, | bl

from the chromosome. | . e \
greall (pa 40 giugh! jud

$(pgwgag,sIt)

14- Give the scientific term: 1le JIA elal pllaaalf S50 -\ ¢

A type of lymphocyte cells which activate the | ¢»>¥1g/s¥dadis arglaed LS
other lymphocytes and stimulates its ImmMune | i La jasig aglaedd LRI o

response. e Lo Al Y1
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15- Mention two examples of living organisms 0955 A OLSISY Gyt lie 4831 -Ve
which have haploid somatic cells (N). 20 aemet | sl T | AL SIS
() Aalt
16- Choose only one of the following 1 (@) 91 (1) a1 gaudt i 2t 2N Y
question (A) or (B) then answer: o oylB
Compare between: faeall w39 Oty gttt (1)
A-Formation of tylosis and gum precipitation. | olesjily abs yael! dewlwsd! ()
B- Hypersensitivity and detoxifying enzymes. AOLEd (B dcewdt 655
10
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17- Show by drawing only: bus gl dadd @ dl mg -\V

The building unit of protein molecule, then | z,&! @3 (gl siad adld!
explain its structure.

18- Mention the site of secretion and the | Hge,e 2ads g9 31,81 (IS ;S50 -VA
function of (ACTH) hormone. (ACTH)

Site of secretion 3 ,2¥1 Hlss wads ot Function

11
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19- Choose only one of the following | @3 (0) oi (i) Gudfsmadt dsi izt =14
questions (A) or (B) then write its ) Y .
scientific term. 1L o) ol elal| pllaiad S|

. . . . . "Lu all ‘43.‘..».. “‘_s‘
A- An enzyme in which its codon is found in Slugdd) B 43,80 A2 g3 @3]

viruses which has mRNA genome. gt Ligise g A

B- A machine used to duplicate a piece of -mRNA
DNA at high temperature. DNA alad daclinal pusvia jlga o

Adle 3yl A pa (B Jenng
20- Choose only one of the following (&) 91 (1) o 3aat i 300 - ¥
question (A) or (B) and explain the s occal L 4
importance of: =40 il

. . LAAA; o - - . s
A- Pulling roots in bulbs and corms. Jlas¥l 3 Galadl Hoaxdi (1)

B- Tendrils in climbing plants. -Cileyesdiy
LGt OBLA 8 Gdlmet | (o)
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21- Choose only one question(A) or (B) and 1@ () 91 (1) Vgt A p2500 Y
answer it: cdle

ESe 195 (pe 3yall gy B (1)
4c gamell LS (gSy LU pay

Give reason

A- An individual may be produced from
parthenogensis and having diploid somatic

cells (2n) - (OY) Adal!
B- An arm of starfish is cut off but no new | »>=! e g3 ualatad @i ud (o)
individual is formed. e 3,8 (g8 W AT aag

22- Explain how to obtain seedless fruits | ole Jgwastl (Soy S miog -YY
Ev(i)t\)l\l/g;ﬂ pollination or fertilization of the LS gt (390 5904 (gt LS

5838 2 Olas )

13
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23- Choose only the right answer from, the | dads dovowialt dala W1 s - YV

following: question: rI Les

Jied I Aacdall Galgstt (pe
..... Olud ¥ 2 Jo¥ I plandl das

One of the natural barriers that represent
the first line of defense in humanis........

@ Histamine. O liccgl | @
@ Cerumen. #Sesall @
@ Interleukines. Ol gt 0N @
@ Perforine. L3388y @

24- What is the scientific base for nuclic acid | (gt ettt (ulu¥i 5o Lo -Y¢
hybridization? _DNA (55301 yasandl
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25- The following shows the sequence of
nitrogenous bases on a strand of DNA

PR % SP-P I [ (Y i ()
A le Ao gy iad! Aol gat
DNA tas i

/3 ... TAC GCC AACCCC ATAA CT.....'5

First : Write the sequence of nucleotides on
mRNA transcribed from this strand.

Second : How many amino acids in the
polypeptide chain formed from this
strand?

26- Show by a complete labelled drawing the

structure of the sarcomere.

o2 Ol gdS gl alis LS| fyjt
- gt MRNA s(g 5 )
o Ao ¥l (olex N sue Lo:Lals
S e

oy it 10 (pe ol

3\.)\:«5 & dasd ‘q.u).n.i @bj -Y1
.M‘M‘Q.JS)SQB\,HJ‘

15
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27- Look at the figure below and answer:

First : Which one needs more time during
the immune response, First or
second infection?

Second : Explain your choice.

PR L i (LA [ {1 *S TR 3%

rol Les
tdae Lot | Al X

LI (o et Al J oW i pad
LA el 1 LG

first Second
infection infection

Concentration of antibodies in the body fluids

:

CV/C1N Joll jgadl - A aljoll dulinl) GA 1uj



YAV/YNT aalpadf plall — J 931 5gult — (a1 ARUL) elin 1 — olal G 310 s 58! L) B3l (ol

28- Choose only one question (A) or (B)
and answer it:

Give reason:

A- The spore mother cell inside the anther of
the flower divides meiotically.

b- Pineapple and banana are seedless fruits.

12 () 9f (1) G5l s § 2500 - YA

1l

rYOL (FWTLFeR [P WER (PO ()
bpen ot 3

Oe bl g Saett Hled gls (o)
STEEL

29- Choose only the right answer from,
the following:

- The permeability of blood vessels and blood
capillaries incerases at the area of injury due

Chemokines.
Perforine.
Cytokines.

Histamines.

Jadd dovouall dala W1 S5l -Y4
1(obs Lao

A gent) A g1 dualad 51a )3

Py 29 ‘n,s A0 Ol padidlg

e ciass Tl
ctssess (D)
st ()
clsse ()
Oe Liacgd ! @
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30- What happens when: sl Codony 13Le - ¥+
Arrival of motor nerve impulse to synapse? AN S ant | Jlewd ! J guo g
L laall uaall Glal|

31- What are the results if: 1Al Al yied! LU o2 Lo - ¥
The endospermic tissue is not consumed rd Byadl s IMGwl pue
during the development of the embryo? o 93 ¥
32- Write the scientific term for: e JIh elalt allamel| COS| =YY
A proteinic substance secreted by The + AL 3)yLeat)
activated T- cells to stimulate the (Tyy) cells |z LS| L pa5 i g oo 33l
to divide. N LA jaed) Aladiad

aluas ¥ e T ue Luat

18
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33- What happens when: e Cadomy 130e - YV
The level of (K*) in the blood increased and | &ews yazsy pgwwligd! dews 33L)
the level of (Na") decreased? Al B agas guall

34- Choose only one question (A) or (B) | :@3(o)oi (1) ottt i yisn) =¥
and answer it: -
compare between: o

A- The immune role of bone marrow and the plisall glonil - gobiall oat1 (1)
immune role of thymus gland. POVRP P {FRETL B IR (PSP

B- The antigens and immune receptors. M a My Sl ¥ ()

(according to their sites)
NS CON  JEAPE O P BN |
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35- The figure below shows a type of RNA. | ¢4l asi moidgn LI ity -¥0
Study it then answer:

First : Write the labels (1) and (2)

Second : Explain the role of this molecule | |, X
. . 1 Il ol Loy
during protein synthesis. T NV PR S Y-

¥ 4/(1) ’O“":j)‘."ﬂ&.‘u =

e Lec e @ 4wyat RNA
Y oled N e Juo Lo LS1 ¥

20
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36- How to control the sex of newborn in | ¥ juwis doasd e s -¥1
i ?
farm animals’ Aalall

37- Choose only one question (A) or (B) | :e3 (<) ol (1) ot gudt i it vy

and write its scientific term. Al piny G o | oS!
A- Collection of flowers grouped on a floral s . .
axis group e el Hlaj¥ (ye e gon (1)
. . ey ) )9>R
B- Embryonic membrane which surrounds et
the amnion. da b daos (e sl (©)

38- Explain how to obtain DNA for cloning | aghad e Jgmastl (jSas cas -YA
by two ways. oy s Lga Luiu¥ DNA (e

21
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39- What are the results of: 1 Ao A yiled| ALY Lo ¥4

The organs of one sex in the flower are | acwont! sbaae¥l Las usi g
matured before those of the other. FIVSTIRRUC R

40- Choose only the right answer: ot Los Aol Aaln W1 il - 0
The infective stage to the female anopheles | s gas ¥ Guaatl j5ta
mosquito is..... 5525583535l 5395 b (yuslih 551

RE PRL YN [

@ Sporozoites. ol gk W @

@ Gametocytes. cdnad ) gl ¥ @

(©)  Gametophytes. i gl el (D)

@ Ookinites. LSyt slatl @

41- what happens if: s Gy 13ke - €\

Damages occurd in many complementary | ablaie adlce zlg)i sue ali wic
sequenced base pairs in a DNA molecule. I VCRITRTIR

.DNA ;é')::
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42- Compare between the role of condum
and surgical sterilization as methods of
contraception.

1w (8 £ Y
(;")’.‘J‘NMUL_SJSM‘Q’BB“)QJ
ot e Jilug (po (ibew oS

43- Choose only one question (A) or (B)
and draw a complete lablled diagram
for it Only:

A- Gametophyte of Adiantum .

B- The Human female reproductive system.

(@) 9l (1) ot gmad ) | Ji5nt €Y
rdadd Sk JolS oy d g @3
1508 3lin B39 B el yghat (1)
(eralal) Olasl 01 B Ll et ()
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44- Study the figure below and answer:

First : Write the name of No. (2) and
mention its importance.

Second: What happens during sudden
contraction of the structure No. (1)
or vigerous effort?

(PVSSEPN LW i (Y (1 {DFPRTY I 33
1o
Lﬂa(*)pﬁa‘*-,«-‘cd-\e‘-ﬁ'&ds‘:&ﬁ
Sdicanl

39gms Jib wie Gidswn Ble sLals
el oS U Galae yalds gl cade
s(V)
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45- If you have a sequence of nucleotides | DNA (yo 2 akad sl (1S 131 - £ 0
on a part of DNA as the following I D Lale

5..G.A_A-T-T-C..3
'3..C.-T-T-A_-A_G..5

First : What is the effect of bacterial A ;S pdaatf Ciley 331 sl Lo ¥ g
restriction enzymes on DNA i 5101 pos gyl 0 e

double helices by using arrows. St plaiuly

Second : How many restriction enzymes in

: | 839> 9ol padl  Olas 3] 3o @S : LOLS
microorganisms.

2EE LIS L8

25
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